
write amount

EBT is calculated using DFL & interest is taken on balancing figure.
Interest on 12% Bonds is 36,00,000. Balance interest could be other loans taken & repaid during the year.
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1 No need to state the entire option.
Just a b c d is fine.

Very poor performance in MCQs. 

1

Answer could be well worded

State it is excluded from defn of
supply itself

To be leviable w.e.f. date decided by Government on recommendation of GST council
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1.5

Explain the entire provision and then conclude

RCM?

2.5

Incomplete
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3.5

Detailed answers not written 


